BCEGS AND MITIGATION DISCOUNT ADJUSTMENT ‘7
Started Sub-Calc
Started Sub-Calc

Hurricane Base Rate 0.0 + 4.031 4.031

Amount of Coverage 4.0321 = 38903 156932
Ended Sub-Calc

Building Hurricane Base 0.0 + 15693 15693
Started Sub-Calc

Other Wind Base Rate 0.0 + 0.252 0.252

Amount of Coverage 0.252 - 3893 981
Ended Sub-Calc

Building Other Wind Base 15693 + 9581 16674
Started Sub-Calc

Hurricane Base Rate 0.0 + 4] 4]

Amount of Coverage o] = o] o]
Ended Sub-Calc

Contents Hurricane Base 16674 3= 0 16674
Started Sub-Calc

Other Wind Base Rate 0.0 + 0 0

Amount of Coverage o] = 4] 4]
Ended Sub-Calc

Contents Other Wind Base 16674 + 0 16674
Ended Sub-Calc
Started Sub-Calc
Started Sub-Calc

Total Rate 0.0 + 0.945 0.945

BCEGS 0.945 / 1 0.945

Loss Mitigation 0.945 ! 0.26 3.63461538

Amount of Coverage 3.63461538 = 38903 14150
Ended Sub-Calc

Building Hurricane Non-Mitigated Premium 0.0 + 14150 14150
Started Sub-Calc

Total Rate 0.0 + 0.08 0.08

BCEGS 0.08 / 1 0.08

Loss Mitigation 0.08 ! 0.26 0.30769231

Amount of Coverage 0.30789231 = 3893 1198
Ended Sub-Calc

Building Other Wind Non-Mitigated Premium 14150 + 1198 15348
Started Sub-Calc

Total Rate 0.0 + 0 0

BCEGS 0 / 1 0

Loss Mitigation 0 / 1 0

Amount of Coverage 1] i 1] 1]
Ended Sub-Calc

Contents Hurricane Non-Mitigated Premium 15348 + [i] 15348
Started Sub-Calc

Total Rate 0.0 + 0 0

BCEGS 0 / 1 0

Loss Mitigation o] ! 1 4]



